Model Prediction (G3-14)
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G3-14: ['LfN', 'NdN', "TsN', 'tgtLfN', 'prunLfN']
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G3-14: ['LfN', 'LfNT', "TsN', "TSNT']
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G3-14: ['LfA", 'peakTgtLAl']
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G3-14 (plot by DAT)

4
AoY
19
REEL!
L
R
>—o o
"o A Bt
1
_.m|* _I* _I.*
._Irl r.q -.ﬂ
1 1
mH._ .ﬂo |4|o |Mo
Az ! L L
‘._L *r* _I.* ﬂ ﬂ
[ L — -
“Ees
ﬂ rﬂw |4|0 \-e "|4 “|4
- SR e 2 A |
LY ) F. _ ! “ 1
e 7T Y _Lele i
_|0 --@ .ﬂ _|‘ _|‘ _Ill.
B AR e S0 Sie S
e T TV el
..* _I.* “ r*_.ll*..lll..
...* _._ llql‘ rﬂ “
t I
Lol g
S
Le Lo ] ]
! : | e—_—
e e l-el
e 1
o | &
e “Se
I . Mo A AR
REE:
"--4" =
“_.I--b
“ 2
| g
e @ 0
s 5§ & i & °

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



G3-14 TsN1 (plot by DAT)

F——————

Harvept

Turn Color

Fruit Set

Anthesis

Budding

60

50 A

T T T
o o ~
< m N

Buippng 1oy sAeqg

60

30 40 50
Days After Transplant

20

10



Days After Budding

G3-14 TsN2 (plot by DAT)
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G3-14 TsN3 (plot by DAT)
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Days After Budding

G3-14 TsN4 (plot by DAT)

[
1
1
|
50_ 1 __*
: ..___;.‘:.i" I
' Y !
| r~ &% ____Hatwest
40 A 1 --0
: r———@ Turn Color
! __d
l —-4
30 l ——$
: r——0
| r=———
' o
1 —_
20 - ' -—&
: |___"
1 -0
l -
1 |m————— ®
10_ 1 |
: R ® Fruit Set
1 I
: : Anthesis
0 - : é
1
: Budding
1 T T r | : I

Days After Transplant




G3-14 TsN5 (plot by DAT)
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G3-14 TsN6 (plot by DAT)
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G3-14 (plot by adjDAT)
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Days After Budding

G3-14 TsN1 (plot by adjDAT)
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Days After Budding

G3-14 TsN2 (plot by adjDAT)
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G3-14 TsN3 (plot by adjDAT)
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Days After Budding

G3-14 TsN4 (plot by adjDAT)
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G3-14 TsN5 (plot by adjDAT)
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G3-14 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sflnit’, 'sfDeV', 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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Plot EnvOpt Decision
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